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P⁰   +   3e  →  P‾³                      Na⁺   +   1e → Na⁰

S⁺⁴  +  2e  →  S⁺⁶                       S⁰     +    4e→  S⁺⁴

Cl⁰   +  1e →  Cl‾                       Cl⁺⁷   +    8e→  Cl⁺¹ 

Процессы восстановления  
( +е )

степень   окисления     У М Е Н Ь Ш А Е 
Т С Я



       Ba⁰  -   2e →  Ba⁺²                    S‾²   -   2e  →  S⁰

       Fe⁺²  -  1e→  Fe⁺³                     N⁺⁵   -  8e  →  N‾³

       S⁺⁶    -  2e→  S⁺⁴                       Na⁰   -  1e  → Na⁺         

Процессы окисления   ( - е )

степень   окисления      У В Е Л И Ч И В А 
Е Т С Я



P ⁰    +       Na⁰  →   Na⁺₃P‾³

Восстановление:    P⁰   +   3e  →  P‾³   | 1
Окисление:            Na⁰  -  1e  → Na⁺     |  3
  
 P⁰  -   окислитель        Na⁰ - восстановитель

                 P ⁰    + 3  Na⁰  =   Na⁺₃P‾³

H₂S‾²    +    O₂⁰   =  H₂O‾²  +   S⁺⁴O₂

Окисление:                S‾²    -   6e  →  S⁺⁴   |4 | 2 
Восстановление:      O₂⁰   +  4e  → 2O‾² | 6| 3

Окислитель :  O₂⁰        Восстановитель:  S‾² 
   

2H₂S‾²    +  3 O₂⁰   = 2 H₂O‾²  +  2 S⁺⁴O₂
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